
1 OL-60XH supplied with an oil equalization fitting.
OL-60XH-1 supplied less an oil equalization fitting.

2 OL-60TH-1 oil inlet and equalization fittings are at the 9 o’clock position.
OL-60-TH-2 oil inlet and equalization fittings are at the 12 o’clock position.

3 The OL-60XH/OL-60XH-1 and OL-60ZH controls have shorter arms than the other controls.

4 Replace the OL-2DH with the OL-60FH control. Cap off the oil equalization fitting.

All Sporlan oil level controls now incorporate the “60” port for product simplification. The “60” port
is designed to handle a large operating range and replaces the “1” and “2” port oil level controls.

OL-60CH replaces the OL-1CH and OL-2CH controls.
OL-60FH replaces the OL-1FH and OL-2FH controls.
OL-60HH-6 replaces the OL-1HH-6 and OL-2HH-6 controls.
OL-60NH-2 replaces the OL-1NH-2 and OL-2NH-2 controls.

Internally all Sporlan OL-60 controls are identical. Different models exist because of installation
requirements, space constraints (short arm versions), flange design or the desirability/location of
the oil equalization fitting. The three bolt flange oil level controls are interchangeable provided it can
be installed in the system. For oil level controls not shown above, contact Sporlan Valve Company.

Oil inlet
3/8" SAE
straight

Oil inlet
3/8" SAE
straight

Oil inlet
3/8" SAE
straight

Oil inlet
3/8" SAE
straight

Oil inlet
3/8" SAE
angle

Oil inlet
3/8" SAE
straight

Oil inlet
3/8" SAE
angle

Oil inlet
3/8" SAE
straight

55
°

55
°

45
°55

°

45
°

45
°

55
°

3.16" 3.16"

3.68" 3.68"

3.68"

3.68"

3.68"
3.68"

3/8 SAE oil equalization ftg.

3/8 SAE oil equalization ftg.

3/8 SAE oil equalization ftg.3/8 SAE oil equalization ftg.3/8 SAE oil equalization ftg.

3/8 SAE oil equalization ftg.
raised 3/8" 
above std. 
location

OL-60CHOL-60CH

OL-60XH/OL-60XH-1 OL-60XH/OL-60XH-1 13

(3 bolt 1-7/8" B.C. flanges)
OL-60FH OL-60FH 4

(3 bolt 1-7/8" B.C. flanges)
OL-60HH-6OL-60HH-6

(3 bolt 1-7/8" B.C. flanges)
OL-60NH-2OL-60NH-2

(3 bolt 1-7/8" B.C. flanges)

OL-60OHOL-60OH
(3 bolt 1-7/8" B.C. flanges)

OL-60TH-1/OL-60TH-2 OL-60TH-1/OL-60TH-2 2
(3 bolt 1-7/8" B.C. flanges)

OL-60ZHOL-60ZH
(4 bolt, 50 mm B.C. flanges)(3 bolt 1-7/8" B.C. flanges)

January 2004 / Bulletin 310-10-1

Notes: Review the dimensional and oil inlet fitting configuration differences between the OL-60FH and
OL-60XH controls. The OL-60XH has virtually the same dimensions as the AC&R controls. The oil inlet
fitting on some of the AC&R controls point up whereas the oil inlet fitting on the OL-60XH points out.
Often a slight change to the oil line will remedy this variance.

The oil inlet fitting points up on the OL-60FH. However, the arms of the control are 1/2 inch longer
than the arms on the OL-60XH control. In applications where ample room exists, the OL-60FH is
another option.

If the oil equalization fitting is not required on the Sporlan model, simply cap the fitting.

Sporlan oil level controls include a 100 mesh inlet screen whereas the AC&R controls do not.

ECNEREFERSSORCROTITEPMOC
.ONLEDOMR&CA NGISEDEGNALF .ONLEDOMNALROPS

0109-S tlob3 HX06-LOroHF06-LO
A0109-S tlob4 HZ06-LO

0909-S tlob3 HX06-LO
A0909-S tlob4 HZ06-LO

0119-S tlob3 HX06-LOroHF06-LO
0219-S tlob3 HX06-LOroHF06-LO
0319-S tlob3 HX06-LOroHF06-LO
0919-S tlob3 HX06-LOroHF06-LO

OIL LEVEL CONTROLS®



REBMUNTRAP NOITPIRCSEDTRAP

521-126 DI61/5-1gnir-O
000-2221-PJ DI61/5-1gniRdauQ
000-8121-PJ 4/3x02-4/1swercSpaCssalgthgiS
100-8121-PJ 1x02-4/1swercSpaC
200-8121-PJ 4/1-1x02-4/1swercSpaC
000-5121-PJ ylbmessAneercStelnI

LO-S etalp,ssalgthgiS

tiK-LO-K

gniRdauQ000-2221-PJ)1(
gnir-O521-126)1(

swercSpaC1x02-4/1100-8121-PJ)3(
stunkcoL02-4/1000-3221-PJ)3(

tiKreztiB-LO-K

gniRdauQ000-3151-PJ)1(
)rosserpmocotslaes(gnir-O920-126)1(

)ssalgthgisreztiB(gnir-O000-8946)1(
swercSpaC1x02-4/1100-8121-PJ)3(

stunkcoL02-4/1000-3221-PJ)3(

For additional information on Sporlan oil level controls and/or adaptor kits, consult Bulletin 110-10 and Bulletin 110-11 or contact Sporlan Valve Company.

Page 2 / Bulletin 310-10-1

AOL-A (968007)

3  1/4 - 20 x 1-1/4” Bolts
3  Nuts/Star Washer
2  O-Rings
1  Small O-Ring
1  Quad Ring
1  Sightglass

AOL-C (968009)

3  1/4 - 20 x 1-1/4” Bolts
3  Nuts/Star Washer
1  Sightglass
2  O-Rings
1  Quad Ring
1  Teflon Gasket

AOL-P (968011)

3  1/4 - 20 x 1-1/4” Bolts
3  Nuts/Star Washer
1  Sightglass
2  O-Rings
1  Quad Ring

AOL-R-1 (968012)

3  1/4 - 20 x 1-1/4” Bolts
3  Nuts/Star Washer
1  O-Ring

AOL-K-1 (968024)

3  1/4 - 20 x 2” Bolts
1  Sightglass
2  O-Rings

AOL-BO (968027)

3  1/4 - 20 x 2” Bolts
1  Sightglass
2  O-Rings

AOL-BI (968028)

3  1/4 - 20 x 2” Bolts
1  Sightglass
2  O-Rings

AOL-MA/TE (968026)

3  1/4 - 20 x 2” Bolts
1  Sightglass
2  O-Rings
1  Teflon Gasket
1  Compressor O-Ring

AOL-BR/TR (968025)

3  1/4 - 20 x 2” Bolts
1  Sightglass
2  O-Rings
1  Compressor O-Ring

OL-60CH/OL-60HH-1;

OL-60XH(-1)/OL-60ZH,

and OL-60TH-1/OL-60TH-2

OL-60FH/OL-60OH

Quad Ring

O-Ring

Sightglass
S-OL

FITTING
ACTUALLY
BEHIND

OIL LEVEL CONTROL ADAPTOR KITS

Notes: Mechanical oil level control not recom-
mended for scroll compressors.

The K-OL-Bitzer kit is required for O-ring
replacement on the OL-60ZH control.

* Components not required for
mechanical oil level controls.

Printed in U.S. of A.                                                                                                                                                                                                                                         104

100 Mesh
Strainer

100 Mesh
Strainer

*


